ENBUSREREETES
(B) ¥29%481H

(£) Frk3043H31H

FE_SE—HFR

(8417 : )
BERE LERRE(A) BISEESRE(R) 1E3E(A)-(B)

AP XIS RN 8,508, 221 8, 250, 955 257, 266
FEERALY —ERE B HINE 159, 530, 015 150, 773, 659 8, 756, 356

g EREEEH SN 30, 000 35,000 -5, 000
ZOMOINGS 0 0
Y-ExEENINZRET (1) 168, 068, 236 159, 059, 614 9, 008, 622

v NS 117, 697, 346 105, 431, 639 12, 265, 707
AREEE 9, 470, 316 8 976, 761 493, 555
; BHE 17, 144, 566 15, 848, 658 1,295, 908
& B XIBEEER 8,490, 034 7.679, 537 810, 497
B| |(mEEzwEm 0 0
8| & | rimaammms 0 0
"’g P e 7, 684, 960 7,512, 407 172, 553
w| | EEmBR SRR AR -3, 155, 052 3 155, 052 0
BT EEER 0 0
BUNTREES | LR 0 0
TOMOER 26, 333 26, 333 0
J-CXEBBEMET (2) 157, 358, 503 142, 320, 283 15,038, 220
Y-CEBMEREE (3) = (1) - (2) 10, 709, 733 16,739, 331 -6, 029, 598
BASFIBHBEINES 262, 413 281,673 =19, 260

SZEVF S AL SN 9,873 45,122 -35, 249

T T 0 0
Al 0 0

MNE il aditad 0 0

Y 3 | Ea M s as 0 0
|| (A 0 0
el |HEszEEsmmas 0 0
2| |zothoy-ExERIMNG 170,108 1,107,736 -937, 628
B oeREmIRESE (4) 447, 394 1,434,531 992,137
i{ XHIFIR 2,119, 540 2,187, 867 -68, 327
MG = 0 0
| |EmErssiE 0 0
ff a TS TS 0 0
- | RIS TR 0 0
EARRESTA 0 0

T AT 0 0
ZOMOY - REESIER 0 0
S-EREESEAET (5) 2,119, 540 2,187, 867 -68, 327
Y-CEBIMERE (6) = (4) — (5) 1,677, 146 753, 336 923,810
EEtEEER (7) = (3) + (6) 9,032, 587 15,985, 995 -6, 953, 408
MEEREE RS BN BN 0 42, 283, 000 -42, 283,000

MR RS RN 0 0 0
EHEEASEASTREESHSING 0 0

g Bl S 0 0

B E s 0 0
ZOMOIERIRES 0 0

;TJ FERIIRZSET (8) 0 42, 283, 000 -42, 283, 000
b BEAEHEARR 0 0
| |EEaEmE 0 0
2| |BramEsmaE-asA 2 0 2
| & | BRI S SE RIS (R1Z) 0 0
FB | BB S S RIS SR ITER 0 42,283, 000 42,283,000
PIES L 0 0
ZOMOIERIES 0 0
FRIERET (9) 2 42,283, 000 -42, 282,998
SRS (10) = (8) - (9) -2 0 -2
UHBEEIEAELE (11) = (7) + (10) 9,032, 585 15, 985, 995 6,953,410
# [ EEEAEE (12) 58, 540, 311 44, 869, 782 13,670, 529




S B M E DS NI

LEARIRMUERNERNAESE (13) = (11) + (12) 67,572, 896 60, 855, 777 6,717,119
EOREH A (1 4) 0 0 0
TOMMOTEIIEEEHER (1 5) 0 267,016 -267,016
TOMMOIEIIEIEIER (1 6) 1,000, 791 2,582, 482 -1,581, 691
RERRMUEENEIHESE (17) = (13) + (14) + (15) - (16) 66,572, 105 58, 540, 311 8,031,794




